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NoTe: ANSWER FIVE QUESTIONS ONLY

Q1. A) For what value of k is

x%-1 . \ : )
fo) = 4=e ifx <1 S\ 6 S e
e ifx=1
Continuous at every x?

B) Find the equation of the plane hayipg the two points A(2,1,1) ,B(7,5,2) and that is
normal to the plane whose equation is 2x-3x}5z=4. ~ 10marks —

10marks

Q2. A) Find j—i if:
e :
e D) 2) f(x)=(x? + 1)T + gsin 10marks

cos3Vx2+x !
Tt 1t 1
sin (x—z)cos 2)

B)/Etéluate 1) [ sinxcos(cosx + 2) dx. , 2) [ = dx 10marks

Q3. A) Compute the arc length of the curve y= %xz = %lnx , 1l=x <4 gmarks
B) 1) Calculate the derivative f(x ) = fxz 2 Smark
| ivative f(x ) = | -~ ——— marks
—brrarks—
=1
Q4. A) Approximate (8.2) 3 . 10marks
3 2.0
B) Evaluate the integral: 1) [ x® Inxdx o +if+4$x+20 dx. 10marks
2
Q5. A) Evaluate: 1) fol :_xz dx b 2)f xVv1l—x dx 10marks
B) Find the area of the region between the graphs of f(x)=x’ and g(x)=v8x for
1=ty = 3 10marks
N
Q6. A) Find the area of ABCif A(1,0,2) ,B(5,1,6) and C(3,3,1). 10marks

B) Evaluate the limit :

: x3sin£ ] L
1)lim,_, sy ; 2)lim,. (x)i* 10marks
Good Luck

Layla Hashim
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